System description

3

HARTING

F

FH MH24 +7

MH 24 + 7

Input acess from
the wiring side via a
female connector

G

-

09 06 048 0521
09 06 048 0522

-
I
I
'
i
i
'
|
|
I
|
|
'
|
|

09 06 001 9964

Input access from
the front side via a
female connector

| element

% TA0ER 2305 MP
03 08015 3503k

U element

o,

09 06 901 9925
09 06 900 9996

la
Combinations Fixing bracket a Fixing bracket b
for male connectors for male connectors
Multiple Single Multiple Single
fixing fixing fixing fixing
o} (e (’“ﬂ{r‘wjﬁq} 8 | [ TR
09 06 000 3901 09 06 000 9905 -09 06000 9907 09 06 000 9309
(05 06 000 3302 09 06 000 09 06 000 9508 03 06000 9310
Housing A lgﬁg s(Mgwsﬂf(i:]g) latchable

: latch (M 2.5 x 20
Housing B and s(crew f|xmq)

. latch (M 2.5 x 20
Housing D15 and s(crew fixinq)
Housing D20 screw fixing
Housing G screw fixing

latch (M 2.5 x 20

Comt():'ggso) and s(crew fixinq)
(...9968) screw fixing

latch (M 2.5 x 20

Comé‘_'i_ggso) and s(crew fixinq)

(...9968) screw fixing
Ib
Combinations Fixing bracket b I element | U element

for female connectors
Multiple fixing "
g W @
DQDSEIJGBB];]
09060009933

: M 2.5%22) latch and (M 2.5x16
Housing A ( )crewfm ( )

. M2.5%26) latch and (M 2.5x20
Housing B latchable (25 Gsc?ecw ﬁ;‘mé X
Housing D15 latchable latchable
Housing G screw fixing

(...9930) latchable
Comb. O

(...9968) (M 2.5%26) screw fixing (M 2.5x20)
Comb. M latchable

09 06 800 9946
0906 901 9924 Housing B/D 15 Ila b
09 06 900 9997
09 06 800 9948 09 06 048 0503 /| 2x 109 06 000 9913/ and/or 2x | 09 06 000 9926
T R To e 109060480504] 1x {03 08 000 aa1a| andlor 2 109.06.000 9926
a ﬂ = o a
IAAE “hl 09 0A 0NN 9913
R e le— L1 10906 048 0505 1x{ 09 08 000 99149 | andor 2x 109.06 000 9926
i T i 09 06 048 0515/| — - and 2x 109 06 000 9926
2x 10906 0009930 and2x |09 06000 9926
Comb.O +L
n + zw,%Dmawo ; 2x [09060009968| - =
- - Dk G N T 2x 10906000 9930 = =

09 06 848 0550

D20 metal

09 06 848 0551

D20 metal HF

09 06 048 0503
09 06 048 0504
09 06 048 0505

09 06 048 0521
09 06 048 0522

G

1) Fixing brackets for latch and screw fixing
2) Screw M 2.5 x 22 belongs to supply of | elements, nut
M 2.5 DIN EN ISO 4 036 does not belong to scope of

supply

3) Screw fixing (cheesehead screw

M 2.5 x 20 + nut) 09 06 000 992¢

4) Screw fixing (cheesehead screw

5) Cheesehead screw (M 2.5 x 26) 09 06 000 9955, nut
M 2.5 DIN EN ISO 4 036 does not belong to scope of

6) Screw M 2.5 x 20 belongs to the junction element,

Following items don’t belong to scope of supply
7) Screw M 2.5 x 12 and nut M 2.5 DIN EN ISO 4036

M 2.5 x 16 + nut) 09 02 000 9909

supply

hexagonal nut M 2.5 DIN EN ISO
to scope of supply

8) Screw M 2.5x 8

9) Screw M 2.5 x 8 and nut M 2.5 DIN EN 4032
10) Screw M 2.5 x 25 and nut M 2.5 DIN EN 4032

f
m
R
L

female connector
male connector
right hand

left hand

4036 does not belong

General
information

00
11


https://b2b.harting.com/ebusiness/EN/search/09020009909
https://b2b.harting.com/ebusiness/EN/search/09060009913
https://b2b.harting.com/ebusiness/EN/search/09060009913
https://b2b.harting.com/ebusiness/EN/search/09060009913
https://b2b.harting.com/ebusiness/EN/search/09060009919
https://b2b.harting.com/ebusiness/EN/search/09060009919
https://b2b.harting.com/ebusiness/EN/search/09060009926
https://b2b.harting.com/ebusiness/EN/search/09060009926
https://b2b.harting.com/ebusiness/EN/search/09060009926
https://b2b.harting.com/ebusiness/EN/search/09060009926
https://b2b.harting.com/ebusiness/EN/search/09060009926
https://b2b.harting.com/ebusiness/EN/search/09060009926
https://b2b.harting.com/ebusiness/EN/search/09060009930
https://b2b.harting.com/ebusiness/EN/search/09060009930
https://b2b.harting.com/ebusiness/EN/search/09060009955
https://b2b.harting.com/ebusiness/EN/search/09060009968
https://b2b.harting.com/ebusiness/EN/search/09060480503
https://b2b.harting.com/ebusiness/EN/search/09060480504
https://b2b.harting.com/ebusiness/EN/search/09060480505
https://b2b.harting.com/ebusiness/EN/search/09060480515

